## INDEPENDENCE OF RANDOM VARIABLES

**Recill: Two events A and D are independent if 
$$P(AAB) = P(A)P(B)$$
.  
Define let  $(X,Y)$  be a pair of random variables where X has  
support I and Y has support 2. Then X and  
A =  $E_{II}$  and  $B \in E_{II}$   
Specifications of cites of where  $T = 1 = 4$   
 $P(X \in A, Y \in B) = P(X \in A) P(Y \in B)$ .  
Bestically, we consider all possible events concerning X and all possible events  
concerning Y. If every pair of X-and-Y events is independent,  
we call the rives X and Y independent rate.  
Theorem: If  $(X,Y)$  is a pair of discrete rate.  
Theorem: If  $(X,Y)$  is a pair of discrete rate.  
Theorem: If  $(X,Y)$  is a pair of continuous rate with just part p  
independent iff  
 $f(x,y) = P_X(b) P_Y(y)$  for all  $(x,y) \in \mathbb{R}^d$ .  
The marginal parts  $F_X$  and  $F_Y$ , then X and Y are  
independent iff  
 $f(x,y) = f_X(b) F_Y(y)$  for all  $(x,y) \in \mathbb{R}^d$ .  
The independent iff  
 $f(x,y) = f_X(b) F_Y(y)$  for all  $(x,y) \in \mathbb{R}^d$ .  
 $f(x,y) = f_X(b) F_Y(y)$  for all  $(x,y) \in \mathbb{R}^d$ .  
 $f(x,y) = F_X(b) = f(x)$  for all  $x \in \mathbb{R}$ , and  $F_Y$ , then X and Y are  
independent iff  
 $f(x,y) = F_X(b)$  for all  $x \in \mathbb{R}$ , all  $y \in \{y: F_Y(b) > 0\}$ ,  
 $f(x,y) = P_X(b)$  for all  $x \in \mathbb{R}$ , all  $y \in \{y: F_Y(b) > 0\}$ ,  
 $f(x,y) = P_X(b)$  for all  $x \in \mathbb{R}$ , all  $y \in \{y: F_Y(b) > 0\}$ ,  
 $f(x,y) = F_X(b)$  for all  $x \in \mathbb{R}$ , all  $y \in \{y: F_Y(b) > 0\}$ ,  
 $f(x,y) = F_X(b)$  for all  $x \in \mathbb{R}$ , all  $y \in \{y: F_Y(b) > 0\}$ ,  
 $f(x,y) = f_X(b)$  for all  $x \in \mathbb{R}$ , all  $y \in \{y: F_Y(b) > 0\}$ ,  
 $f(x,y) = f(x,y) = f(x,y)$  for all  $x \in \mathbb{R}$ , all  $y \in \{y: F_Y(b) > 0\}$ ,  
 $f(x,y) = f(x,y) = f(x,y)$  for all  $x \in \mathbb{R}$  are egal to the marginal  $p t = p$** 

• Tabulate the joint distribution of (X,Y).

We find that  $P((X,Y) = (X,Y) = \frac{1}{36}$  for all  $(X,Y) \in \{1,...,6\} \times \{1,...,6\}$ 

• Check: 
$$P((X,Y) = (X,Y) = P_X(X=Y) P_Y(Y=Y)$$
 for all  $(X,Y)_g$ 

 $E_{\frac{1}{2}} = \int_{Y}^{X} (y - y)^{1-x} = \int_{Y}^{X} (y - y)^{1-x} = \int_{Y}^{1-x} (y - y$ 

Are X and Y independent?

We get the same for Y:

$$f_y(y) = \frac{2}{5} (2 + 3y - 3y^2) I(0 \le y \le i).$$

Now 
$$f_{\chi}(x)f_{y}(y) = \frac{4}{25}(2+3x-3x^{2})(2+3y-3y^{2})\mathbb{I}(0=x=1, 0=y=1).$$

This is not equal to 
$$f(x,y) = \frac{6}{5} \left[ 1 - (x-y)^2 \right] 1 \left( 0 \le x \le 1, 0 \le y \le 1 \right),$$
  
for example, for  $(x,y) = (\frac{1}{5}, \frac{1}{5}).$ 

It may be a hassle to compute the marzinals fir, fy or \$x, \$y. There is an easier way to check independence:

Theorem: Let 
$$(X,Y)$$
 be a pair of either discrete or continuous  
r.v.s with joint purt  $P$  or joint polf  $f$ . Then  
 $X$  and  $Y$  are independent iff there exists functions  
 $g$  and  $h$  such that  
 $p(x,y) = g(x)h(y)$  for all  $(x,y) \in \mathbb{R}^2$   
or  
 $f(x,y) = g(x)h(y)$  for all  $(x,y) \in \mathbb{R}^2$ .

4 So instead of finding the marzinel purts or polts, we must only find the functions g and h in order to establish independence of X and Y.

E:1. Let (X,Y) have the joint pot  $f(x,y) = 48xy(y-xy) 1 (0 \le x \le 1, 0 \le y \le 1).$  $f(x,y) = 48x(1-x)^2 1(0=x=1) \cdot y^3 1(0=y=1)$ We can write 8. putting  $g(x) = 48x(1-x) I(0 \le x \le 1)$  and  $h(y) = y^3 I(0 \le y \le 1)$ , f(x,y) = g(x)h(y).These do not have to be polts, i.e. they need not integrate to 2 Therefore X and Y are independent. E.g. Let (X,Y) have the joint pof  $f(x,y) = \frac{1}{4\pi} \exp\left[-\frac{x^2+y^2-2x+1}{4}\right] .$  $f(x,y) = g(x) \cdot h(y)$  for Then  $j(x) = \frac{1}{4\pi} \exp\left[-\frac{x^2 - 2x + 1}{4}\right], \quad h(y) = \exp\left[-\frac{y^2}{4}\right],$ X and Y are independent. 80 E.g. Let (X,Y) have the joint polt  $f(x,y) = \frac{4}{5} \left[ 1 - (x - y)^2 \right] \mathbf{1} \left( 0 \le x \le 1, \ 0 \le y \le 1 \right) .$ We cannot find j(x) and h(y) such that  $f(x,y) = g(x) \cdot h(y)$ , so X and Y are not independent.

The next theorem says that it two rues are independent, then the expected value of their product is equal to the product of their expected values. This comes from the fact that their joint pdf/purt, when they are independent, is equal to the product of their marginal pdfs/purts. <u>Theorem</u>: Let X and Y be independent random variables. Then  $E \times Y = E \times E Y$ . Moreover, for any functions  $g: R \rightarrow R$  and  $h: R \rightarrow R$ ,

$$\mathbb{E}_{q}(X) h(Y) = \mathbb{E}_{q}(X) \mathbb{E}_{h}(Y).$$

Prost: Let y: R => R and h: R => R. Then if X and Y are continuous with joint polf f(x, y),

E.j. het X and Y be independent random variables with marginal polfs

$$f_{\chi}(x) = 2e^{-2\chi} 1(xz_{0})$$

$$f_{\chi}(x) = 2e^{-2|\chi|} 1(-z e^{-2\chi} e^{-2\chi})$$

$$f_{\chi}(y) = e^{-2|\chi|} 1(-z e^{-2\chi} e^{-2\chi})$$

$$f_{\chi}(y) = e^{-2|\chi|} 1(-z e^{-2\chi} e^{-2\chi})$$

$$f_{\chi}(y) = e^{-2|\chi|} 1(-z e^{-2\chi} e^{-2\chi})$$

Then  $EXY^2 = EXEY^2$ , where  $EX = \frac{1}{2}$ , since  $X^*$  Exponential  $(\lambda = \frac{1}{2})$ 

and  

$$\begin{aligned}
& \text{E } y^2 = \int_{y^2}^{\infty} y^2 e^{-2lyl} \, dy \\
& \text{Iyl} = \begin{cases} y & \text{if } y > 0 \\ \circ & \text{if } y = 0 \\ -\gamma & \text{if } y < 0 \end{cases} = \int_{y^2}^{0} y^2 e^{-2y} \, dy + \int_{0}^{\infty} y^2 e^{-2y} \, dy \\
& \int_{-\infty}^{0} y^2 e^{-2y} \, dy = -\int_{0}^{\infty} w^2 e^{-2w} \, dw = \int_{0}^{\infty} w^2 e^{-2w} \, dw \\
& \int_{-\infty}^{0} y^2 e^{-2y} \, dy = -\int_{0}^{\infty} w^2 e^{-2w} \, dw \\
& \text{W=-}y, \quad y = -w, \\
& \text{dy = loydw} \end{aligned} = 2 \int_{0}^{\infty} y^2 e^{-2y} \, dy \\
& = 2 \int_{0}^{\infty} y^2 e^{-2y} \, dy \\
& = \frac{1}{y} \int_{0}^{\infty} u^2 e^{-u} \, du \end{aligned} = \frac{1}{y} \int_{0}^{\infty} u^2 e^{-u} \, du
\end{aligned}$$

$$= \Gamma(s)/4$$

$$= \frac{1}{2}$$
So  $\mathbb{E} \times Y^{2} = \mathbb{E} \times \mathbb{E} Y^{2} = \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{4}$ .  
The following result helps vs find the distribution of sums of independent readers with the mode of the some of two independent readers variables. It says that the mode of the two modes.  
The some of two independent readers variables with modes of the reader of the modes of the modes.  
Theorem: Let X and Y be independent rough variables with modes of the reader variable. V=X+Y is given by  $M_{V}(t) = M_{X}(t)M_{V}(t)$ .  
Freef:  $M_{V}(t) = \mathbb{E} e^{tV} = \mathbb{E} e^{t(X+Y)} = \mathbb{E} e^{tX} = \mathbb{E} e^{tY} = M_{X}(t)M_{V}(t)$   
Example the variable  $V = X + Y$  is given by  $M_{V}(t) = M_{X}(t)M_{V}(t)$ .  
Freef:  $M_{V}(t) = \mathbb{E} e^{tV} = \mathbb{E} e^{t(X+Y)} = \mathbb{E} e^{tX} = \mathbb{E} e^{tY} = M_{X}(t)M_{V}(t)$   
Example the independent rans and that X ~ Binomial(n, p) and let  $U = X + Y$ .  
Then  $U = 4t$  successes in norm by  $M_{U}(t) = M_{X}(t)M_{V}(t) = [\rho e^{t} + (r\rho)]^{n} [\rho e^{t} + (r\rho)]^{n}$   
 $= [\rho e^{t} + (r\rho)]^{n+in}$ , which is the mode of U is given by  $M_{U}(t) = M_{X}(t)M_{V}(t) = [\rho e^{t} + (r\rho)]^{n+in}$ , which is the mode of the Binomial( $(n+m, p)$ ) distribution.  
Example the mode of the Binomial( $(n+m, p)$ ) distribution.  
Example the mode of  $M = M_{X}(r, \sigma_{X})$  and  $Y = Normal((n, r, \sigma_{Y})$ .  
 $(maginal distribution)$   $(maginal distribution)$ 

$$\begin{split} \mathcal{M}_{U}(t) &= \mathcal{M}_{X}(t) \mathcal{M}_{Y}(t) = e^{\Lambda_{X}t + \sigma_{X}^{2}t^{2}/2} e^{\Lambda_{Y}t + \sigma_{Y}^{2}t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y})t} + (\sigma_{X}^{2} + \sigma_{Y}^{2})t^{2}/2} \\ &= e^{(\Lambda_{X} + \Lambda_{Y$$